Math - Calculus Il REVIEW # 4
Evaluate: ( give exact answers)
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(a) fxtanzxdx (b) fnf csc yx cot x4 (0) foz e cos 3x dx
16

VX

cos(arctan t) dt
t2+1

(d) fcot3xcsc5xdx - (e) f - () fx3cos3xdx

_ 3_Ey2_ 2
f 2x-1 dx : (h) f 3x°-5x<-11x+9 dx (i) f 3x<+4 dx
x? (3x-1) x2%-2x-3 x2-4
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(j) fxarccosxdx 2 (K) f(arcsinx)zdx (1) f@dx

(m) dex SUNING X:” dx (o) fL

X {x4-25 x2 /9-x2
2_
(p) fx5e"‘2 dx ;(q) fxarctanxdx (1) f 6x"-16x+3 4y
(x-2)? (2x+1)
(s) f\/1—4x2 dx (b f 3-2 4«
(x+1)% (x-1)
Answers:
1.2 4 3 2
xtan Xx - —x“ - Injsec x| + C ;(b) -— +2 y2 ; _ P e _ £
(a) 5 lsec x| + C ;(b) V2 (o) 3 =

(d) —% (csc x)" + % (csc x)° + C ;(e) sin(arctan t) + C
(f) 13 sin 3x + 1x2 cos 3x - 2x sin 3x - -2 cos 3x + C
3 3 9 27

(g) Injx| -+ — IBx-1] + C :(h) %x2 +x + 3 1In[x-3| - 3 Inx+1[ + C
X

(i) 3x + 4 1In|x-2| - 4 Injx+2| + C



2 —_—
(J) x arccos x + 1 arcsin x - u +C
2 4 4

(k) X (arcsin x)*> + 2 y1-x2 arcsin x - 2x + C

2
() 4x?-25 —5arcsec(%) +C ;(m) %Oarcsec(%) + C
- v2
8 242 . VX ¢

9,3 3 9x
1 2 2

(p) _EX4 e ™ - x

(n)

x 2 1 1
(q) — arctan x - —x + — arctan x + C
2 2 2

(1) 2 Injx-2| + 12 + Inj2x+1] + C

(s) %arcsin 2X + % (x\/1—4x2 ) +C

() L] - —2— + L nx-1) + ¢
4 2x+1) 4

REMEMBER : sin 26 = 2 sin 6 cos 6
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